Name__________________________

	Inequality
	Step One
	Step Two
	Solution

	3x – 4 ≥ 5


	Add 2
	Multiply by -2
	x < -16
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2

x + 12 ≤ 2
	Add 4
	Multiply by 
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	x < -6
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x

 + 7 < 3
	Add 6
	Multiply by 2
	x < 8

	5 > 2x + 17
	Add 9
	Multiply by 4
	x ≤ -15

	-4x – 10 ≤ -8
	Add 10
	Multiply by 12
	x ≤ 2
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x  + 5 ≤ 6
	Subtract 5
	Divide by -4
	x > -18
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x

 – 6 < 3
	Subtract 7
	Divide by 2
	x ≥ -
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	-1 ≤ 
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x

 - 2
	Subtract 12
	Divide by 3
	x ≥ 3

	31 > 5x – 9
	Subtract 17
	Divide by 5
	x ≥ 12


Directions: Cut out the cards under the step one, step two, and solution headings.  Can you determine the first step, second step, and solution for each of the 9 inequalities?  Paste your results on a sheet of paper.
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